AHQIHA AEl EH Al2|C

PK1A Al2|=/EE

@20, @25, @32, 40

=X |

o

E=FC
TN
® @ ® !!! !!! 7
1. Al2|= ™ = =
Afol A AR S5 M 4. deid 2% 6. 2= Mot 24
page 62 E&F WM E E=x 275 ERE)
| |42 &
2. 0H2E A 5. FM &Al Y Y H{Z 7%
FI= | 0t2E S 275 | ¥H 2A J H2ex St
LB | FE =& A | ool =4 F) 2E ek g0l 2l Z S
FH HE= =anx| = 5 7 ex) U, Y
=
FC | & EdX
E= EfLL
TH SlEXS ERLR 7 axy xolx|
HE EpLL
© ::} ;: :: 2715 | A9l glg
CA A Hl A -
=t = C73 | CL-D-C73 A 9|x| =t
CB Ol & ZgH| A
CE | 28Hla A E
8. AQIX| BE £
3. 582 WiE (mm). 215 | AR 27) BE
20 ®20 1 AQ x| 17) F&
25 ®25 n 29| x| no} S&
32 @32
40 @40
OF28 22l &H
E4 Lz (mm) ®20 @25, @32 @40
ZE al2E PK1420-LB PK1A25-LB PK1440-LB
Ze x| PK1A20-FH PK1A25-FH PK1440-FH
e PK1420-TH PK1425-TH PK1440-TH
olak Zafb|A | PKIA20-CA PK1A26-CA PK1A40-GA
ol&k Zas|a | PK1A20-CB PK1A25-CB PK1A40-CB
m Pneumatic 61




N IETENESS

@20, #25, $32, P40

PK1A Al2[=

AL
sayZ o9l ®20 | 025 | @32 | @40
A S A A=37I
Atg 2t He MPa(bar) 0.1~0.9(1.0~9.0)
25 = MPa(bar) 1.5(15.0)
AERT c 5~60
A8 IAE £ mm/s 50~500
Z M H M, ofof LM
AEZ3 38 2| mm A
FE, EUX, EBL 2, SYHlA dF
nieg 58
A S H| A, O] & SBHIA
—
e 2EEH
EHI|H HEEHH(mm) I |
(mm) | 25| 50 | 75 |100|125|150| 175|200 [250|300| 3 XN
@20 o|lojo|lo|lo|o|o|Oo|O]| O] ~700
®25 o|lojo|lo|lo|o|o|Oo|O]| O] ~700
®32 o|lojo|lo|lo|o|o|O|O]| O] ~700
@40 o|lojo|lo|lo|o|o|O|O]| O] ~700
26 0|2 &= o)
FEUE | =223 232 (MPa)
s
(mm) (mm) 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
bk 31 63 94 126 | 157 188 | 220 | 251 283
®20 ?8 -
=z 26 53 79 106 | 132 158 | 185 | 211 237
Az 49 98 147 | 196 | 245 294 | 343 |393 442
?25 ®10 -
=z 41 82 124 | 165 | 206 247 | 288 [330 371
Az 80 161 241 | 322 | 402 482 | 563 | 643 723
?32 ?12
=z 69 138 207 | 276 | 345 414 | 484 |553 622
PShs] 126 | 251 377 | 502 | 628 754 | 879 | 1,005/ 1,130
@40 ?14 -
=z 110 | 220 331 | 441 551 661 | 771 |882 992
mmeumaﬁc 62



AE[QlZ A AL

@20, 25, 32, »40

Parker RS

FH AZIH/HEEY PK1A Al2|=
=™ ALK ALY
220X FH CL-D-C73
FopE et DC 24V AC110V AC220V
2oy Rotd R 5~40mA 5~20mA 5~12mA
U mergst av ofaf
oIt olEf U= ON Al HMuY Col2= &S
g = gao), NAs 2=z

1 (2 - mm)
o™ ALK BE F
o™ AR A 270 2& nJl £&
e | =oiu e ol 17 &%}
og [sus| ome sus
n—2>
CL-D-C73 10 45 |10+45 75 )las+45(n-2) 10
(n=2,4,6..)
[
SHE (49 : kg)
sHZA 20 @25 ?32 @40
Il ey 0.14 0.24 0.31 0.56
zEY 0.18 0.32 0.38 0.64
Zax 0.18 0.34 0.40 0.66
721 2
SaHa AH 0.14 0.24 0.30 0.54
Bl -
AN S H A 0.19 0.30 0.37 0.69
ol & S H|IAH 0.19 0.31 0.37 0.73
EzjLle ¥ 0.17 0.32 0.38 0.74
50 ~AER3 G Bt 5 0.03 0.05 0.07 0.11
Yp 42 FQIE 0.035 0.058
g M
oj4 {2 =QIE 0.045 0.074
63



AE[Q12 A ARl £H A2
FEE Y FREE/2EY

HEHIM EY

oflol 74 Efd

NO 2EY Moo NO 2EY HooF

1 oAE 2C 4% 383 ¢ 10 2c 4 NBR

2 ojAE ALE S 11 EE 24 -

3 ORad e d2tolE EetAg 12 ZE 7 ofEn[E o=

4 0 E 7HH AL B3 13 Sl FHH gE0lE B33

5 LEE! TR 14 5l = 7{H (CE type) LE0E =

6 o-g NBR 15 2E HE EEENES

7 A= 4 NBR 16 HH HE LA s EbaZt

8 M8 ANE - 17 CE 54l L24EF B3

9 w2 LE QN AZ 18 74 0-¢ NBR
mmeumaﬁc 64




ollof 74 Eted

“"UBTIOOGEEEIE

g 1.-0a

110 1.7 °a

] Al B C |oD| E | EV G ¢ J KV | KW| M M MN N [Re(PT} [@ S| § | S1 W L 0 P
20120 | 41 |67.5| 8 |14| 26 | 7.5 |19.8 | 183 | 5] 5 M8x 1.25 M20x 1.5 | 8 1/8 28| 28| 24 16 | 122.5122.5| 7 6
25|20 |46 |68.5| 10 (16| 32 | 7.5 | 26,8 | 17 | 6| 6 | MIOX 1.25 | M26x 1.5 | 8 1/8 | 3434|3015 (1305 25| 8 7
32|20 |46 |68.5| 12 (16| 32 | 7.5 | 268 | 17 | 6| 6 | MIOX 1.25 | M26x 1.5 | 8 1/8 | 40|40 | 36 | 15 | 130.5(28.5| 8 7
40 | 24|52 (83.5| 16 18| 41 |105 (318 |22 7] 8 M14x 1.5 M32x 1.5 | 10 1/4 48 | 48 | 45 21 |1 163.5(82.5| 12 | 11
weex 2xo e
TLL BL

G x| F ~100 101- | 201- | 301- | 401- | 501- ~100 101- 201- | 301- | 401- | 501- ~100 101- | 201- | 301- | 401- | 501~

200 300 400 500 600 200 300 400 500 600 200 | 300 | 400 | 500 | 600
20| 30 | 35 40 70 100 130 160 - 162.5 192.5 | 222.5 | 262.5 | 282.5 - 81 111 141 171 201 -
25030 | 36| 40 70 100 130 160 190 170.5 | 200.5 | 230.5 | 260.5 | 290.5 [ 320.5 | 88 | 116 | 146 | 176 | 206 | 236
32|30 | 36| 40 70 100 130 160 190 170.5 | 200.5 | 230.5 | 260.5 | 290.5 [ 320.5 | 88 | 116 | 146 | 176 | 206 | 236
40 | 48 | 46 | 40 70 100 130 160 180 193.5 | 223.5 | 253.5 | 283.5|313.5 | 343.5 | 92 122 162 182 212 242

Parker RS

65




A O| A AElI EH AIE[ .u._l_x%:I PK"A Al IX
& XA /HE ITE |.°E%
2'5’ II‘I‘—l—/—| oS T — n=E <::>I (2H2] - mm)
W2 Y
s
KW € s . .
2-Rc(PT) ]
A ‘& © 2-MN
r = 7 7
g - I
o]
— P - F— - - =
o O
| | MM I
\}\ i \}\ T T T
LX = LE w lw Lc LE
L1 C+STROKE
Lz 4-0LD
Y LS+STROKE
TL+STROKE
001 M Etel
Cushion Needle
o
W2 ox gl
x
e
TLL+STROKE
o | A |[B|C|oD|E|EV KV [ KW| LL [ LT [LC|®LWD|LE|LH| LS |LX|LZ|M M N N |R(PTY [ T| TL | W]|Y
20| 20 |41(67.5| 8 |14 26 (75|13 | 5|38 |28 |18 6.2 | 10|23 |103.5|30| 43 | 5| M8x 1.25 |M20x 1.5| 8 1/8 3 [136.5|15| 23
25| 20 | 46(68.5/ 10|16 32 [7.5|17 | 6| 48 | 35 | 23 7 12 | 30 | 114.5| 46 | 62 | 6 | MiOx 1.25 |M26x 1.5| 8 1/8 3 (149.5| 15| 23
32|20 | 46(68.5/12 16| 32 [7.5|17 | 6| 50 | 35 | 23 7 12 | 30 | 114.5| 46 | 62 | 6 | MiOx 1.25 |M26x 1.5| 8 1/8 3 (149.5|15| 23
40| 24 | 52(83.5/16 | 18| 41 [10.5/ 22 | 7 | 54 | 36 | 24 7 12| 30 [131.5 | 48 | 62 | 8 | M14x 1.5 [M32x 1.5| 10 1/4 3 |171.5( 21| 28
Yzex i Fe
L BL TLL YL
@ jox| r qgp| 190- | 200 | 301- | 401~ | B01- | ool 101- | 201- | 301 | 4O1- | 801 | _ja0 | 101 | 201- | 301 | A0 | 801 | o0 |10 | 201-| 301 | A01- | 501~
200 | 300 | 400 | 500 | 600 200 | 300 400 500 | 600 200 300 400 500 600 200 | 300 | 400 | 500 | 600
20 (30 (35| 40 | 70 | 100 | 130 | 160 - 81| 1M 1 m 201 - 176.5 | 206.5 | 236.5 | 266.5 | 296.5 - 63 | 93 | 123 | 153 | 183 | -
25|30 (35| 40 | 70 | 100 | 130 160 190 | 86 | 116 146 176 206 | 236 | 189.5| 219.5 | 249.5 | 279.5 | 309.5 |339.5| 63 | 93 | 123 | 153 | 183 | 213
32(30(35| 40 | 70 [ 100 | 130 | 160 | 190 | 86 | 116 146 176 206 | 236 | 189.5 | 219.5 | 249.5 | 279.5 | 309.5 |339.5| 63 | 93 | 123 | 153 | 183 | 213
40 (48 | 46| 40 | 70 | 100 | 130 | 160 | 190 | 92 | 122 162 182 212 | 242 | 211.5 | 241.5 | 271.5 | 301.5 | 331.5 |361.5| 68 | 98 | 128 | 158 | 188 | 218
mmeumaﬁc 66




(9] - mm)
A EfY
4-0FD M N, G, p2-RcPT) G g
;n i - 2-MN .
A <
o3 N . ]
— 1 oz P = r F— - = 2 ”
Pany b = !
ia 5 i
‘ X MM A KW w \ ‘ w s
A Y FT
B8 C+STROKE €
TL+STROKE
ool 74 Bty

Cushion Needle

Cushion Needle

:

BL

TLL+STROKE

o [A|B C |®D| E|EV|OFD| FH | FT | FW | FX | FY | FZ [¢} ©J| KV [KW| M MM MN N [Re(PT)|® S| S | ST | W[ TL Y
20120(41|67.5] 8 |14/ 26| 6 | - 3 [ 52[40(20(32|7.5(198|13|5|5|M8x1.25(M20x15|8]| 1/8 28|28 |24 |15(122.5]38
25|20 46(68.5| 10 |16] 32| 7 - 5180 |64 (28|44 |7.5(258|17 | 6|6 |MOx1.25\M26x15|8]| 1/8 |34 | 34|30 |15[130.5] 41
32120(46|68.5( 12 | 16| 32| 7 - 5|80 |64 |28 |44|7.5(258|17 | 6| 6 MOXx1.25/M26x 1.5 8| 1/8 |40 | 40 | 36 | 15[130.5] 41
40| 24|52 |83.5] 16 | 18| 41 7 148 | 5 |80 |64 |28 |44 105318 22| 7| 8 |M4x15[M32x 1510 1/4 | 48 | 48 | 45 | 21[153.5| 47
PECEREETS
L BL YL TLL

e jex| F 10 101-| 201- | 301-|401-| 501~ 10 101-201- | 301- | 401- | 501~ ~100 101- | 201- | 301- | 401- | 501 -100 101- | 201- | 301- | 401- | 801-

200 | 300 | 400 | 500 | 600 200 | 300 | 400 | 500 | 600 200 | 300 | 400 | 500 | 600 200 300 | 400 | 500 | 600
20(30(35|40| 70 | 100 [130| 160 | - |81 [ 111 | 141 | 171 | 201 - 78 | 108 | 138 | 168 | 198 | - |162.5(192.5 |222.5|252.5(282.5| -
25(30(35|40| 70 | 100 [130| 160 | 190 |86 | 116 | 146 | 176 | 206 | 236 | 81 | 111 | 141 | 171 | 201 | 231 [170.5| 203.5 |230.5|260.5|290.5(320.5
32|30|35|40| 70 | 100 | 130|160 | 190 |86 | 116 | 146 | 176 | 206 | 236 | 81 | 111 | 141 | 171 | 201 | 231 [170.5| 203.5 |230.5|260.5|290.5|320.5
40 (48|46 | 40| 70 | 100 [130| 160 | 190 |92 | 122 | 152 | 182 | 212 | 242 | 87 | 119 | 147 | 177 | 207 | 237 [193.5| 223.5 |253.5|283.5313.5|343.5

m Pneumatic 67



AMZIL/EZEE PK1A AlE2|=

M - [—9“ 4-0FD
|
| =N
= T ‘@ (K\\ @
s ¢ -1 ——————————— - - — -y E
Sl ./
o DN b
MM A E LW ‘ w [ —
) FW
] C+STROKE FT
Y+STROKE
TL+STROKE
0lo{ M Ete]

Cushion Needle

BL

YL+STROKE
TLL+STROKE
¢ | A|B C |OD| E |EV[®FD|FH | FT | FW | FX | FY | FZ | G | & J | KV [KN| M M MN N [Re(PT)| TL w Y
200120 |41 (675 8 |14 | 26 6 - 3 |52|40 (20|32 [75(19.8/ 13| 5|5 | M8x1.25 [M20x15]| 8 1/8 |122.5) 15 |[111.5
25|20 | 46 (685 10 [ 16 | 32 | 7 - 5|80 (6428|444 [75(258|17| 6|6 |MOx1.25(M28%x1.5]| 8 1/8 |130.5) 15 [119.56
32|20 | 46 (685 12|16 | 32| 7 - 5|80 (6428|444 [75(258|17| 6|6 |MOx1.25(M28%x1.5]| 8 1/8 |130.5) 15 [119.56
40| 24 | 52 (835 16 | 18 | 41 7 48| 5 | 80|64 | 28| 44(10.5(31.8(22| 7|8 | M4ax 1.5 |M2x15|10 1/4 |153.5| 21 |140.5
wzex gijel Ho
L BL YL TLL

® | F|oX

~100 101-1201-|301-|401-501- ~100 101-1201- | 301- | 401- | 501~ ~100 101- | 201- | 301~ | 401- | 501~ ~100 101- | 201- | 301- | 401- | 501-

200 | 300 | 400 | 500 | 600 200 | 300 | 400 | 500 | 600 200 | 300 | 400 | 500 600 200 | 300 | 400 | 500 | 600

2035|3040 | 70 | 100 (130|180 | - | 81 [111| 141 | 171 | 201 - |151.5(181.5|211.5|241.5|271.5| - [162.5{192.5|222.5|252.5|282.5| -

25|35 (30| 40 | 70 | 100|130 | 160 | 180 | 86 [ 116| 146 | 176 | 206 | 236 [159.5|189 5]219.5|249.5|279.5(309.5 (170 5[ 203.5(230.5| 260.5|290.5|320.5

32|85 (30| 40 | 70 [ 100|130 | 160 [ 190 | 86 [ 116 | 146 | 176 | 206 | 236 [159.5|189.5]219.5|249.5|279.5(309.5 [170.5{ 203.5(230.5| 260.5(290.5 | 320.5

40| 46| 48| 40 | 70 [ 100 [ 130 | 160 | 190 | 92 | 122 | 152 | 182 | 212 | 242 |180.5]210.5|240.5|270.5|300.5( 330.5(193.5| 223.5|253.5|283.5|313.5 | 343.5

m Pneumatic 68



H AZIM/EEYE PKIA Al2[=

1>
4
ro
o

|AAEIE
— =TT

e XeE/5S SdHIA LMY

(=2 © mm)

BT 7M ERY

G 2-Re(PT)
MM MT ~—
- 2
R 17 S
g | I o H
3?361* = m i @
- -
W N CX
A E | w w st
8 C+STROKE
Y+STROKE
TL+STROKE
0o 744 Ef
Cushion Needle

Cushion Needle

ox

YL+STROKE

TLL+STROKE

o A B ¢ ®CD|CX|CY|CZ|®D| E |ET|EV G O J [ KV | KW | M MM MN N |Re(PT)|® 5| 8 | 81 L w Y
20| 20 | 41 |67.5 8 14114 (10| 8 [ 14|18 |26 |7.5(19.8] 13| 5 S| MBx 1.25 | M2OX 1.5 | 8 1/8 |28 |28 | 24 |126.5| 15 [116.5
25120 |46 |68.5| 10 16 (1411|1016 |20 | 32| 7.5|25.8| 17 6 6 | M10x 1.25 | M26x 1.5 | 8 1/8 34 | 34 |30 [ 134.5| 15 [123.5
32|20 (46 (685 10 |16 (13 [ 11| 12 | 16 20| 32 | 7.5(25.8| 17 | 6 | 6 | MIOx 1.25| M26x 1.5| 8 1/8 | 40 | 40 | 36 | 134.5| 15 |123.5
40124 |52 (835 12 |18 (17|13 |16 (18 (24| 41 |10.5(31.8| 22 | 7 8| MI4x 1.5 | M32x 1.5 | 10| 1/4 | 48 | 48 | 45 [ 159.5| 21 |146.5
PECEREETS

L BL YL TLL

® | Fjex ~100[101-(201-301-{401-1501-| 44/ 101-201-1301- 1401|5011 _4qq [ 101-] 201- | 301 | 401~ | S01= | _4pa | 101- | 201- | 301~ | 401~ | 501-
200 | 300 | 400 | 500 | 600 200 | 300 | 400 | 500 | 600 200 | 300 | 400 | 500 | 600 200 | 300 | 400 | 500 | 600

20 (35|30 40 | 70 [ 100 (130|160 | - | 81 [ 111141 [ 171 | 201 | - |156.5[186.5/216.5|246.5|276.5 166.5(196.5|226.5]256.5(286.5| -

25(35|30| 40 | 70 [ 100|130 | 160|190 | 86 | 116 | 146 [ 176 | 206 | 236 |163.5[193.5/223.5|253.5|283.5|313.5 174 .5/ 204.5|234.5|264.5|294.5| 3245
32(35|30| 40 | 70 [ 100|130 [ 160 | 190 | 86 | 116 | 146 | 176 | 206 | 236 [163.5(193 5 223.5|253.5|283.5|313.5(174 5/ 2045|234 .5|264.5|294.5|324.5
40 (46| 48| 40 | 70 | 100|130 | 1680 | 180 | 92 122 152 [ 182 | 212 | 242 |186.5[216.5| 246.5|276.5|306.5|336.5199.9] 229.5|259.5|289.5|319.5| 349.5

m Pneumatic 69




AEIOIg|| A AElI EH AlZ] -|/.u.—_,_7<%:l PK1A Al2|=
AH QA AR BEH MEIH/EEY Alg2|=
& XA /EHE QlAL =2 A H XIS
[=2 [=2
2'5’ xI'I'—l—/—|<3 EI—I- EE"HI—T—lo (=42 : mm)
BT M ERY
2-MN E‘T 2-Ro(PT)
- I [
2|| g H
éeéw’%l* i T 1 r— -
I
KW N
A E w
B C+STROKE E
Y+STROKE
TL+STROKE
olo1 =M Et
Cushion Needle
Cushion Needle
I [
HEex B
x
Cl
F L
BL
YL+STROKE
TLL+STROKE
[ Al B C |eCDeCH|{CX|CY | CZ |oD| E |ET[EV |G | @J KV |KN M Mu MN N [Rc(PT}|@ S| S [ S1| W Y L
20 |20 | 41 |67.5| 8 |24 [10] 14| 10 | 8 [ 14|31 |26 |7.5/19.8 | 13| 5| 5 |Hax 1.25 [M20x 1.5] 8 | 1/8 | 28 | 28 | 24 | 15 130.5149.5
25 |20 | 46 [68.5[ 10| 30 [10 | 14 | 10 [ 10| 16 33|32 |7.5/25.8 | 17 | 6| 6 [M10x 1.25|M26x 1.5 8 | 1/8 | 34 | 34 | 30 | 15 |147.5157.5
32|20 | 46 |68.5| 10| 30 (10| 14 | 10 |12 | 16|33 |32 |7.5|25.8 |17 | 6 | 6 [MIOx 1.25|M26x 1.5| 8 | 1/8 | 40 | 40 | 36 | 15 [147.5|157.5
40 |24 | 52 |83.5(12| 38 | 15|18 | 12 | 16 | 18 [ 41 | 41 [10.56/31.8 | 22 | 7 | 8 | M14x 1.5 |M32x 1.5{ 10| 1/4 | 48 | 48 | 45| 21 |176.5|188.5
gzox pxo F2
L BL s L
O F O gl 101-|201-[301-( 401- | 801~ [ 00100~ 201-(801-401-| 801~ _ 0| 101- | 201~ | 801~ | 401- | 501~ | 1o | 101- | 201~ | 801- | 401- | 601-
200 | 300 | 400 | 500 | 600 200 | 300 | 400 | 500 | 600 200 400 | 500 | 600 200 | 300 | 400 | 500 | 600
20| 35 | 30|40 | /0 | 100 | 130 | 160 - 81 (111|141 | 20 = |189.5|218.5|249 5]2/9. 565|309 5| - |1/9.5|209.5]239 5|269 5|299 5| -
2535 | 30 | 40| 70 [ 100|130 | 160 | 190 | 86 | 116 145 | 175 | 206 | 236 |197.5|227.5]257 5|287.5[317 5] 347 5| 187.5| 217 5| 247 .5[ 277 5| 307 5| 3375
32|35 |30 | 40| 70 [ 100|130 | 160 | 190 | 86 | 116 145 | 175 | 206 | 236 |197.5|227.5]257 5|287.5[317 5] 347 5| 187.5| 217 5| 247 5| 277 5| 307 5| 3375
40| 46 | 48 | 40 | 70 [100 | 130 | 160 | 190 | 92 | 122 | 152 | 182 | 212 | 242 |228 5|258.5|288.5|318.5(348.5|378.5(216.5|246.5(276 5|306.5|336.5(366.5
mmeumaﬁc 70



AHIOIg{| A AElI EH AlZ] -|/.u.—_,_7<%:l PK1A Al2|=
AH QYA A BEH MEIM/HEEY Alg|=
3 x| AD /EH== AL = A Olf]| &
[=2 [=2
2|<D:l II_I_—l—/—l o Ol I—I- EE”HI— = '"o (2] : mm)
WM R
2-MN, G,
MM ——]
T
g 3 H
59 5 8L IR
27 2
L cX
Kw N (]
W cY CzZ
A E w St
B C+STROKE 3]
Y+STROKE
TL+STROKE
oflo1 =M Eted
Cushion Needle
Cushion Needle
I 1
W2R= ERY
¢
| Bl
F L
BL
YL+STROKE
TLL+STROKE
@ A C QCOD|CW|CX| CY |CZ|®oD| E [ET|EV | G KV [ KW | M MM MN N [ Re(PT) @ S| S| 1 w Y L
20|20 |41|67.5] 8 [19[ 10| 14 |10 |8 | 14|31 26 [7.5(13 5|5 |Mex 1.25 M0x1.5) 8| 1/8 |28 |28/ 24 | 15(139.5[149.5
25|20 |46|68.5| 10 |19 |10 | 14 |10 10| 16 [33| 32 [7.5( 17 | 6 | 6 [M10x 1.25|M26x 1.5| 8 | 1/8 |34 |34 30 | 15 |147.5[157.5
32|20 |46(68.5| 10 [ 18| 10 | 14 | 10 [ 12| 16 | 33| 32 [7.5| 17 | 6 | 6 |MIOx 1.25|M26x 1.5| 8 1/8 40 | 40| 36 | 15 [147.5(157 .5
40 | 24 | 52(83.5| 12 |30 15| 18 [ 12| 16| 18 | 41| 41 |10.5] 22 | 7 | 8 | M14x 1.5 | M32x 1.5 10 174 48 | 48| 45 | 21 {176.5(188.5
zex Rxo Fe
L BL TLL YL
O OXIF ol 101-[201-[801-[a01-[601-[ ;oo [101-[201-[301-401-|s01-[ 4 [ 101- | 201- | 301 [401- [801- | ;00 | 101-] 201~ | 801~ | 401- [s501-
200 | 300 | 400 | 500 | 600 200 | 300 | 400 | 500 | 600 200 | 300 | 400 | 500 | 600 200 | 300 | 400 | 500 | 600
20(30( 36| 40 | 70 [100 (130|160 | - | 81 [ 111 | 141|171 | 201 | - |189.5|210.5|240.5(270.5/309.5| - [179.5(209.5/230.5|260.6(200.6| -
25(30( 35|40 | 70 [100 [ 130|160 | 190 | 86 | 116 | 146 | 176 | 206 | 236 |197.5|227 .5|257.5|287 .5|317 .5|347 .5 187.5 (2175|247 .5| 277 .5| 307 .5 337 . 5|
3230|3510 | 70 | 100|130 | 160 | 190 | 86 | 116 | 116 | 176 | 206 | 236 (1975|227 .5|257 .5|287 .5(317 .5|3417 5| 187 .5 (217 5[ 217 5277 5| 307 5337 5|
40 (48| 46| 40 | 70 | 100|130 | 160 [ 190 | 92 | 122 | 152 | 182 | 212 | 242 [228.5(258.5(288.5(318.5(348.5(378.5| 216.5|246.5[ 276.5 | 306.5 | 336.5 |366. 5|
mmeumaﬁc 7




AEIOIg|| A AElI EH AlZ] .|/_u_—7<%:] PK1A I Ix
AHQIEA AR BEH MEIM/EFH Alg2|=
& x| AD/HE E 23 (lE=
[=2 O! ==
2|<D:l xI_I_—l—/—l<3 —E-IL'll_(D:i(o‘I ——l) (2] : mm)
HEHIM EFR
aTy
9
s
| & -
3 I [ 3| S
E
TA iR TA
W | E
B C+STROKE
TL+STROKE
ool 74 EtY
Cushion Needle |
T
5
® A B C ®D| E EV G ®J KV | KW | M M Rc(PT) T TA @ T | TR 1R Y w Y L
20120 |41 |675| 8 | 14| 26 |7.5]19.8 | 13| 5 | 5| Mex1.25 1/8 8 8 8 33 | 30| 28 15 | 37 [ 1225
25120 | 46 | 685 |10 | 16| 32 | 7.5| 258 |17 | 6 | 6 | MIOx1.25 1/8 10| 12 10 | 36 | 40 38 15 | 41 1130.5
32|20 |46 |685|12 |16 | 32 | 75| 258 |17 | 6 | 6 | MIOx 1.25 /8 10| 12 10 36 | 40 38 15 | 41 | 130.5
40 | 24 | 52 | 83.5 |16 [ 18 | 41 [10.5] 31.8 | 22| 7 | 8| MI4x 1.5 1/4 12 (1.6 12 40 | 53 52 21 46 | 153.5
mmeumaﬁc 72



AHQIYA AL BEH AEIL/EESE PK1A A=
oH XAE/2E ER|LISH (W E) "
HH M Elel
2-MN N_ 2-Rc(PT) G aTy
N
ENERES ] o 4
M K o w i L7y M P S R

ollo1 =M EfY

Cushion Needle

<=

Cushion Needle

\

W= EIY
P
T [l
F L
8L
YL+STROKE
TLL+STROKE
¢ A B C ®D| C v G ¢ J KV | KW | M MM MN N [Re(PT}| T TA |® TD| TX 1Ad w Y s
202041 |67.5| 8 14| 26 | 7.5 | 19.8 | 13 5 5 | M8x 1.256 | M20x 1.5| 8 1/8 8 8 8 30 | 28 15 [112.5|122.5
25| 20| 46 [ 685 | 10 [ 16| 82 | 7.6 | 258 | 17 | 6 | 6 |[MIOx 1.25 | M6x 1.5| 8 1/8 10 | 12 10 | 40 | 38 | 15 [119.5] 130.5
32|20 | 46 |68.5| 12 | 16| 32 7.5 | 258 17 6 6 | M10x 1.25| M26x 1.5 | 8 1/8 10 12 10 40 38 15 [119.5| 130.5
40 | 24 [ 52 |83.56| 16 |18 | 41 [1056| 31.8 [ 22 | 7 | 8 | M4 1.5 | M32x 1.5 | 10 1/4 12 115 12 | 53 | 52 | 21 [141.5] 153.5
2= Hio| A
L BL YL TTL

® 90X F ~100 101-1201-|301-|401- (501~ ~ﬂ)0101* 201-1301-|401-1501- ~100 101- | 201- | 301- | 401- | 501- ~100 101-| 201- | 301- | 401- | 501-

200 | 300 | 400 | 500 | 600 200 | 300 | 400 | 500 | 600 200 | 300 | 400 | 500 | 600 200 | 300 | 400 | 500 | 600
20|30| 35| 40 | 70 | 100 (130 (160 | - | 81 [111 | 1411711201 | - |152.5|182.5|212.5|242.5|272.5| - |162.5(192.5|222.5 |252.5|282.5| -
25130( 35| 40 | 70 {100 [ 130 | 160 | 190 | 86 | 116 | 146 | 176 | 206 | 236 | 159.5|189.5|219.5|249.5| 279.5[309.5 [170.5| 203.5| 230.5 [ 260.5[290.5 [320.5
32|30| 35| 40 | 70 | 100 [ 130 (160 | 190 | 86 | 116 | 146 | 176 | 206 | 236 | 159.5|189.5|219.5|249.5|278.5|309.5 170.5/203.5| 230.5 | 260.5 | 290.5 |320.5|
40|48 46| 40 | 70 | 100 | 130|160 | 190 | 92 | 122 (152|182 | 212 | 242 [181.5(211.56(241.5(271.5(301.5|331.5(193.5(223.5 | 253.5 | 283.5(313.5(343.5|

Parker RS

73




	1.Actuator
	Air Cylinder
	Pin Cylinder 
	Round Cylinder
	PK1A
	Standard
	Single Acting
	Double Rod
	Valve Mounting
	Tandem
	3 Position
	4 Position
	Adjustable Stroke
	High Temp
	Non Rotaing
	Pin Lock

	P1L 

	ISO Cylinder
	Tie Rod Cylinder
	Compact Cylinder
	Guide Cylinder
	Guide Unit
	Stopper Cylinder
	Rodless Cylinder
	High Power Cylinder
	Bellows Cylinder
	Hydro Check

	Rotary Actuator
	Air Gripper

	2.Valve
	3.Vacuum
	4.FRL Unit
	5.Accessory
	6.Electric

